COLLEGE ALGEBRA - MAT 140

FALL 2008 - Review 4

I. State whether each statement is True or False as stated. Provide a clear reason for your answer.

o flg(x)) = f(z) g(x).

The domain of the composite function (f o g)(x) is the same as the domain of f(x).

If f and g are inverse functions, then the domain of f is the same as the domain of g.

1 €T
The graphs of y = 3% and y = <§> are identical.

I1. Evaluate each expression using the values given in the table.
x|-3|/-2/-110(1]2]3
f(x) |-7|-5[-3|-1{3|5]5
gix)| 8/ 3/ 0|-1{0|3]8

e (fog)(-1)
e (9o f)(=1)
e (g09)(-2)
o (fof)(-1)

ITI. Given that f(x) =42® — 3 and g(z) =3 — %mQ, find
e (fog)
)(2)
)(0)
)(1)
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‘ 1 and g(z) = -

IV. Find the domain of the composite function f o g given that f(z) =

V. Given that f(z) =+/z —2 and g(x) =1 — 2z, find

o (fog)(x)
e (gof)(x)

VI. Find functions f and g so that fog= H where H(x) = V2% + 1.

VII. Determine whether the function is one to one.
e {(1,2),(2,8),(3,18),(4,32)}
hd {(27 6)7 <_37 6)7 (47 9>’ (17 10)}

VIII. The graph of a function f is given. Determine whether f is one to one.
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IX. Find the inverse of the function f(z) = 372 State the domain of f and find its range.
x

X. Solve the equations
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